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(hwqup guudGhpnyg)
Z oo £mgtnwjhG dwhuubph gnpownrwlwl guuwlwpgiw = wyn pyjnul
=<l 2 pwdhGGlnh, fudiptiph L nuutiph, hGywbtu Gwl pymetinwhG o
vz 3
T3 B|&|  owluubph winbuwghnwlwE quuwyuwngsws hondwdGhph 2 | COnwdktp | qupwl | Polnught
s |& g pynigh pjmgt
wljwlmibGtpp 3
1 1234 5 6 7 8 9
LLHUUGLL OUUG? 951,727.7 903,727.7 48,000.0
2100(01( 0 0 |2CLAUT LA ALNFBER LULAUSRL SUNUBNRFE-BAFLLER 226,759.9 220,759.9 6,000.0
wn pynid”
OptiGunhp L qnpownhp SwipdhGG6p, wbumwlpwl Jununjupnid,
2110101] 1| O | ppliwbGumlpuG L, hwipjuwpymebwmuwighG humupbpopyniGGLp, 221,210.0 216,210.0 5,000.0
wpnnuwphl hwpwpbpnipyniGGLp
nphg
2111| 01| 1| 1 |OntiGunhp L gnpownhp SwpdhGGbtp,wbnwljwb Guewywpnd 221,210.0 216,210.0 5,000.0
wyr pynud’
1. Guwnwijwpdwl JupdGh wwhyw o 221,210.0 216,210.0 5,000.0
-UpfuwwnnnGhph wpfuwwmwyupdtip b hwybpuydwnGtp 4111 134,810.0 134,810.0 -
- MupqlwwnpnuiGbp, ngpuiwul jupwfuntunudGip L hwwnniy 4112 13,480.0 13,480.0 )
Jawnltin
-Unghwjuwl wywhnympjub yGwpltp 4131 27,110.0 27,110.0 -
-EGtpqtwmpy ownwjmpyniGGtp 4212 9,000.0 9,000.0 -
-UniniGw ownwjnipjmGGtp 4213 1,500.0 1,500.0 -
-Guwh ownwjmpjniGGtp 4214 4,900.0 4,900.0 -
- UywhnjugpuyjuG owuubp 4215 310.0 310.0 -
-Qnyyph L vwppwynpnuiGhph JupdwwnipniG 4216 1,000.0 1,000.0 -
-Stnuijunyuwiul dwpwjmpjniGGtp 4234 550.0 550.0 -
“LtpYuwjwgnigswlwl dwhuubp 4237 2,200.0 2,200.0 -
-UtiptiwGtph W vwppwynpnudGtinh ppwghy Gnpngmu L 4252 1,800.0 1,800.0 }
wwhwwlnid
-GpuutiGyuyujhG Gyniptp L hwgniunm 4261 5,950.0 5,950.0 -
-SpwGuwynpunwjhG Gyniptip 4264 12,500.0 12,500.0 -
-UtlGgwnujhG L hwGpwjhG uGGnh Gymptp 4267 1,000.0 1,000.0 -
-Muwpumwnhp yGwnpltp 4823 100.0 100.0 -
- Jwpswlwl vwppwynpmytbp 5122 5,000.0 - 5,000.0
2130|01| 3 | 0 |Clnhwlnip pGnijph ownwjnip/niGGop 3,349.9 3,349.9 -
nphg-
2133] 011 3] 1 Whuwwnwluqih /qunptph/ gomy pnhwlnp pngph 3,349.9 3,349.9 )
ownw nipnGGhp
wyn pynid”
1. LRunupwghwlwl jugnipjul wiink, wlgiwl
Swnwmpul om Ghmpnul juquwbpymd (wunndhpuwljgud 3,349.9 3,349.9 -
[hwgnpmipniGG6p)
-Upfuwwnnn Giph wpluwwmwywpdbn b hwytpugdwpltp 4111 2,304.0 2,304.0 -
-Unghwpuu6 wwywhnynipjwG yGwnpltp 4131 427.2 427.2 -
-Qpuublyuyujh Gmptp L hwgniun 4261 618.7 618.7 -
LGnhwlmp pGnyph hwlpughG ownuyympymG66ph qony )
21501011510 hinmwgnunulwl L Guifuwqouyhl upfuuiunuGpGhp 1,000.0 1,000.0
nphg
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=212 pwdhGGtnh, fuiptinh L npuutiph, hGywbtu Gwl pynptinwhG o
vl=3
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v | g pynot pynot
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1 1234 5 6 7 8 9
LGnhwlnip plnyph hwGpuwjhG SwnwynipjniGlitph qony )
21511011511 htmwgnunuwiwl b GwhiwgowihlG wyuwwnwlpGhp 10000 1,0000
wyn pymy”
1. bwpiwgowhG wyfuunnwipGhn 1,000.0 - 1,000.0
- Lwfuwgowhbnmwgnunuwywb dwuubp 5134 1,000.0 - 1,000.0
2160| 01| 6 | O |2dnhwlnp plnyph hwlpuwihl SwrwnpymG6hp (wj) puubphG
1,200.0 1,200.0 -
zwwrpbwﬁnn)
nphg
2161(01] 6| 1 |CGnhwGnip pGnyph hwGpwihl SwowjnipniGGtp (wy) nuwutphG 1,200.0 1,200.0 )
swwnywlinn)
w)n pynui’
1. +hdnidGbp, hwjgunhdndGhp, nuunmupuGh npnymuGhph L
YdhnGtph nbd YJhpwplihs L épwpkl pnonplhp Gapljw g Ghifu 600.0 600.0 -
uwhtfw G d JdwpndGhp
-Muwpuwnhp ydwnpltip 4823 600.0 600.0 -
2. Qmijph Gquwndwdp hpwym GpGbph gpubguwl L 600.0 600.0 )
wnbnbljunnynipjwl mpudwnpniwl b Juuwo JowpnidGh ' '
-Uwulwghnwlwl ownwnipjniGltp 4241 300.0 300.0 -
-Muwpumwnhp yGwnpltp 4823 300.0 300.0 -
2200(02{0fo0 NUCSNULNM3NFL 2,500.0 2,500.0 -
wyn pynud”
2220(02] 2| 0 | Lupupwghwlpu wuywujuGnipjnt G 1,500.0 1,500.0 -
nphg'
2221{02] 2] 1 [ Lwnupwghwlwl yuw)wmwwlnipnl 1,500.0 1,500.0 -
wyn pynid”
1. Lunuwpwghwliwl wuywmuwlnipulli wowlgnipim G 1,500.0 1,500.0 -
-QGnuubGyuluyh Gympbp L hwgniun 4261 1,000.0 1,000.0 -
-SpwGuwnpunwghG Gynipbip 4264 500.0 500.0 -
2250(02| 5| 0 | Ny Gmpyn 6 (wj; nuubphl suyyunljuing) 1,000.0 1,000.0 -
nphg
2251102| 5] 1 [NMwywmuywlnipym (wj nuubphG supunyulng) 1,000.0 1,000.0 -
wjn pymd”
1. Qupuynsh juqumbbpudw Gl wowlgnipmiG 1,000.0 1,000.0 -
-SpwuwnpunwjhG Gyniptip 4264 1,000.0 1,000.0 -
2400(04(0fo0 SLSEUUUUL LUNULGLNMESNRLLER 95,600.0 78,600.0 17,000.0
wyn pynid”
2450( 04| 5| 0 | Spwuwynpin 95,600.0 78,600.0 17,000.0
nphg
2451(04] 5] 1 |GwlwwywphwjhG mpwGuynpn 78,600.0 78,600.0 -
wn pynud”
1. Uupwpin-plinnGu éwolhh ybpwlnpngmd L wwhujwnid 78,600.0 78,600.0 -
-Chliptiph L YunnygGtph pGpughy Gnpngnid b wwhuww Gnud 4251 78,600.0 78,600.0 -
2455104] 5 5 [funnnjuwpwnpuwjhG L wjp mpwluunpun 17,000.0 - 17,000.0
wn pynid’
1. dbpbjulGbph hhyGwGnpngniy 17,000.0 - 17,000.0
-Uj dbiptiGwGtip b vwppwynpnudGhp 5129 17,000.0 - 17,000.0
2500(05(0f0 crauyl Uh2UJUs,h NUCSMULNMe3NMG 269,600.0 269,600.0 -
wn pynid”
2510 05| 1| 0 |Uppwhwnid 180,000.0 180,000.0 -
nphg-
2511105] 1| 1 [UnpwhwGnid 180,000.0 180,000.0 -
wyn pynid”
1. UwGhumwpwlwl duppnuf 180,000.0 180,000.0 -
-UnuiniGw) ownwjnipynGGtp 4213 180,000.0 180,000.0 -
2530| 05| 3| O | Cppwlu dhownjurph wpmmnuw b nhf upwjpwnp 3,000.0 3,000.0 -
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nphg’
2531105] 3| 1 [Onh wnununiwb ntd ywjpwnp 3,000.0 3,000.0 -
wyn pynud’
1. Qtunbph hmGbph Jwppmy 3,000.0 3,000.0 -
-UnuniGw) ownwjnipynGGtp 4213 3,000.0 3,000.0 -
2560l 05 6| o | CHEWYW dhgwwiph wwzuryubnipym G (wj] guubphb 86.600.0 86.,600.0 .
syunnljwbinn)
nphg
2561/ 05 6| 1 [CnewUw thewywph wwwujwlnipyniG (wji nwutiphl 86,600.0 86,600.0 i
swwwnlw@nn)
wyn pynud’
1. Gwlws vmupudpGhph bhdGnd L gpuwhuyuGng 86,600.0 86,600.0 -
-UnuiniGw) ownwjnipyniGhtp 4213 86,600.0 86,600.0 -
ALULUrTLUSRL ChuUrUrNRe-3NFL B GUNUNFLUL
2600/06(0(0 SUNUBNEE3NEL 81,520.0 56,520.0 25,000.0
wyn pynid”
2640(06] 4| 0 | @npnglibph muwnpnd 25,000.0 - 25,000.0
nphg-
2641106] 4| 1 [®nnngGtph jnuwynpnid 25,000.0 - 25,000.0
wyn pynid”
1. Upuinwiphl imuwnfnpmpulG gulgh hhdGuwGnpngnif 25,000.0 - 25,000.0
- Chlptiph L 2hGnpyniGGtph Juwhwuw) ypwlnpngnid 5113 25,000.0 - 25,000.0
2660l 06161 0 LlwlpupuGuihl jhpGwpupnmpyuG L nimGuy SwpwynipyniGG6n 56.520.0 56.,520.0 )
(g nuubphG supunnluiting)
nphg
2661l06l 611 PliwluwpwlwihG ghGwpupnpjul L yniniGuwy dwnwjnipjniGitp 56,520.0 56,520.0 )
(wjp puubiphl suywwnlwlng)
wyn pynud”
1. PuqiwplGulwnwi p6Gptph hwpp mmuGhpGhnh Jepwlnpngmd 16,520.0 16,520.0 -
-Chiliptinh L JunnygGtph pGpughy Gnpngnid b wwhww Gnud 4251 16,520.0 16,520.0 -
3. PujuyhG mmupudpGbph L fuwnubpwupwpuiyGeph
hhdGwlGn 1 1 wywhuyw o 40,000.0 40,000.0
-dwwnnil GyuwwnwlwihG wy Gnipbp 4269 40,000.0 40,000.0 -
2800|08( 0|0 {ULahUS, UCUUNF8E 6d U0 43,500.0 43,500.0 -
wyn pynud”
2810(08| 1 | 0 |<wlqunp L uwyynmnh dwnwympymGGkp,nphg” 3,000.0 3,000.0 -
nphg*
2811108] 1| 1 [Qwlquunnh L uynpuh dwnwjnipjnGGtp 3,000.0 3,000.0 -
w)n pynud”
1. UynpunuihG shongunmuGhph juquwlbpuniy 3,000.0 3,000.0 -
- Uy pipughy npudw)GnphGhip 4639 3,000.0 3,000.0 -
2820(08| 2| 0 |Dpwlmpuwpl ownwinipyniGGhp 40,500.0 40,500.0 -
nphg
2821(08] 2| 1 |QpuwnwpwGGtp 5,500.0 5,500.0 -
wn pynid”
1. Qpunupwluhl dwnuympimGGan 5,500.0 5,500.0 -
-UnmpupnhwGbtp ny hGwbuwub whinwlwb (hwiwjGpwjha) 4511 5.500.0 5.500.0 i
JquqiwytpynipjntGGphG
28231 08] 2 | 3 |Upwynyph mGtp, wynipGtp, YaGumpnGGtp 10,000.0 10,000.0 -
wyn pynud’
1. wduryipwih6 ywlhnyph b wqun dwdwlgh Jwqiwlhbpunig 10,000.0 10,000.0 -
-UnipupnhwGtp ny hGwluwub wyhnwlwb (hwiwjGpwjha) 4511 10,000.0 10,000.0 )
JuqiwytpuympniGGtphG
2824108] 2 | 4 Uy dpwynipwjhG yuqiwlbpunipjniGGtp 25,000.0 25,000.0 -
wn pynid”
1. UpwympwihG dhongunmdGbph hpuwlwGugniy 25,000.0 25,000.0 -
- Uy pGpwghy gpuiwp GnphGip 4639 25,000.0 25,000.0 -
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1 12](3 5 6 7 8 9
2900(09(0f0 UpLEeNrE3NFL 198,000.0 198,000.0 -
wyn pynid”
2910(09] 1| 0 | vwfuwnupngwljub L mwppwlwl plyhwlmp ppnipini G 182,000.0 182,000.0 -
nphg”
2911(09] 1] 1 Jvwhiwunupngwlwl Yppnipjm b 182,000.0 182,000.0 -
wyn pymd”
1. VwpnunypngwlpuG niunigniy 182,000.0 182,000.0 -
-UnipupnhwGtp ny hGwbuwjub whinwlwb (hwiwjGpwjha) 4511 182,000.0 182,000.0 i
JquqiwytpwnipntGGtphG
2950( 09| 5| 0 | 2um vwlhwpnulGbph snuwuwupqynn Yppnipyml 16,000.0 16,000.0 -
nphg°
2951(09] 5] 1 |Upmwnupngulwl nuumhwpuwynipynl 16,000.0 16,000.0 -
wyn pynud”
1. Upmnwpypnguljul nuumpwpuympm G 16,000.0 16,000.0 -
-UnipuhnhwGtp ny hGwluwyub whnwlwb (hwiw)Gpwjha) 4511 16,000.0 16,000.0 )
Juqiwybpynipjm GGaphG
3000|10|0(0 UunshuLuUuUlv NMUCSNULNARMF3NFL 34,247.8 34,247.8 -
win pynud”
3050 10| 5| O | @npowqpynipym G 12,357.5 12,357.5 -
nphqg”
30511 10| 5| 1 [9npowqpynipjniG 12,357.5 12,357.5 -
w]n punui®
1. Jwpdwwnpyng hwuwpw§uwliwl wyfuwunwlplbp 12,357.5 12,357.5 -
-UpluwwnnnGph wpluwwmwdupdbp b hwdbpugdwplbp 4111 10,072.4 10,072.4 -
-Unghwjuu6 wwywhnynipjuwl Jawnpltp 4131 2,238.9 2,238.9 -
-QpuutiGyuyughG Gyniptip LW hwgniun 4261 46.2 46.2 -
3070l 10! 7] 0 Unghwpwlwl hwwnml wmnnlnpymGG6p (wyj nuubphG 12,000.0 12,000.0 )
syunnljuiling)
nphg
3071l10| 7] 1 Unghwjuywl hwnnty wpnnGnipymGatp (w)p nuubphG 12,000.0 12,000.0 )
swwwnlwng)
wyn pymd”
2. Qwpuquun sniGhgnn wldwlg L unghwpwwybu wlwupwhm] 1,000.0 1,000.0 )
pGwmuwGhpGiph hwdwp hmywpjuynpmpjul juquwbpuny
-CGnhwnp pGnyyph wy SwnwynipjmGGtp 4239 1,000.0 1,000.0
- T ] plnwGhpGlphG wnbwlwl opbphl
3. Unghwjwwbu wlwujwhm] pGunwGhplbphG mnGulwb opbphG 5,000.0 5,000.0 )
wowlgnipn1
- Uy npwghy npuwdwyGnphGtip 4639 5,000.0 5,000.0 -
4. Unghwjwwbu wlwujuwhm] widwlg wowlgnipni G 6,000.0 6,000.0 -
-Uj1 GuuuwnGbp pjnigtihg 4729 6,000.0 6,000.0 -
3090 10| 9| O | UnghwpmljuG uwjurymuyuGmpyni G (uzy; nuiubphl sujunnljuGng) 9,890.3 9,890.3 -
nphg-
3091(10] 9] 1 |Unghwjulw i wwywwwlnipjmG (w) puubphG sywwumiwunn) 9,890.3 9,890.3 -
wyn pynid’
1. Unghwjwilju@ oqlmpul dwpwympniGGaph gnpém Gmpnul )
wqiwbpuymy (wuwmdhpulgwo jhuqnpnipniGih 9.690.3 9,690.3
-Uptuwwnnn Gph wpluwwmwdupdbp b hwgbpugdwplbp 4111 7,840.9 7,840.9 -
-Unghwjuwl wywhnynipjw ydwnlbn 4131 1,545.9 1,545.9 -
-Quuh downwjmpjniGGtp 4214 98.1 98.1 -
-GpuubiGyulwjhG Gyniptip L hwgniun 4261 405.4 405.4 -




